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2 TURNIEJ KMP 11.01.2010

 

M-CE NR                                     ±    %   PKL PDF   NAGRODA

------------------------------------------------------------------------

  1  13 Zbigniew Łach          4.0 781           66.08   7 28

        Eugeniusz Ogonek       4.0 4256.S

  2   3 Piotr Litwin           2.5 2343    +1.11 62.24   6 25

        Waldemar Zieliński     2.5 7430  

  3   6 Andrzej Grela          7.0 9226    +0.91 59.57   5 22

        Bartłomiej Kamelski    4.0 9664  

  4   5 Marek Kaczan           4.0 779     +0.91 53.13   4 19

        Grzegorz Prusak        4.0 5158  

  5  12 Tadeusz Domka          2.5 5157.S        52.97   3  17

        Andrzej Sokołowski     1.5 9032  

  6  10 Jarosław Łakomy        4.0 3905    +0.91 52.15   2 15

        Bogusz Nalazek         7.0 816.S 

  7  11 Cezary Cieślewicz      1.5 8664    +0.91 51.66   1 13

        Sławomir Cieślewicz    1.5 8665  

  8   2 Teodor Bykowski        1.0 9067    +0.91 49.92   1 11

        Edward Kozicki         1.0 9717  

  9   7 Józef Matuszewski      2.5 815.S   +0.91 48.44   1  9

        Marek Nadzieja         2.5 4697.S

 10   9 Grzegorz Gralik        2.5 9463    +0.91 48.43   1  7
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        Eugeniusz Jaworski         8956.S

 

 11  14 Andrzej Mitka          2.5 2901.S        47.03   1  5

        Igor Smyk              1.0 5021  

 12   4 Stanisław Gąsiorowski   .5 4260.S  +0.91 45.71   1  4

        Wit Monarski           1.0       

 13  15 Józef Kurnik           1.5 9656.S        43.07   1  3

        Szymon Rosowski        2.5 9719  

 14   8 Lech Staśkowiak            5054    +0.91 42.50   1

        Krzysztof Stodólny         8857  

 15   1 Edward Guziołek            6247.S  +0.91 37.30   1  1

        Henryk Nowak               7689.S

                             -----

                   Suma WK =  67.5
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